



이름: \_\_\_\_\_

날짜: \_\_\_\_\_ 점수: \_\_\_\_\_

$$\left(\frac{1}{4}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{5}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$



이름: \_\_\_\_\_

날짜: \_\_\_\_\_ 점수: \_\_\_\_\_

$$\left(\frac{1}{4}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{31}{2} = 15\frac{1}{2}$$

$$\left(\frac{1}{6}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(\frac{1}{4}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{7}{20}\right)$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{1}{2} = \frac{23}{4} = 5\frac{3}{4}$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{6}\right) = \left(-\frac{11}{6}\right) = \left(-1\frac{5}{6}\right)$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \frac{1}{5} = \frac{129}{20} = 6\frac{9}{20}$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{17}{30}\right)$$

$$\left(\frac{1}{6}\right)^{(-2)} - \frac{1}{2} = \frac{71}{2} = 35\frac{1}{2}$$

$$\left(\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{49}{2} = 24\frac{1}{2}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{3}\right) = \frac{79}{12} = 6\frac{7}{12}$$

$$\left(\frac{3}{5}\right) - \left(-\frac{1}{3}\right) = \frac{14}{15}$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{1}{6} = \frac{95}{6} = 15\frac{5}{6}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{4} = \left(-\frac{9}{4}\right) = \left(-2\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{3}{5} = \frac{23}{5} = 4\frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{3} = \frac{13}{3} = 4\frac{1}{3}$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{11}{3}\right) = \left(-3\frac{2}{3}\right)$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{59}{100}\right)$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{126}{5} = 25\frac{1}{5}$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{29}{100}$$